Advancted:

Proving Triangles Congruent —

1. Given: AD = BC, BC // AD ‘~‘C
Prove: AABD = ACDB
Statements Reasons
1. AD=BC, BC// AD 1._Qjven
2. BD=BD 2._cefexwe
3041 =74 3O\ \NTG Ls dve [ &
4. AABD = ACDB 4, S AS
e o ) c
2. Given: AD=CB, DC=BA
Prove: AABC = ACDA
A B
Statements Reasons
1. AD=CB, DC = BA 1. 9)1‘\/&0
2. AC=AC 2.___yveflexwe
3. AABC=ACDA 33 \()’ \C>~()
3. Given: RV =TV, VS bisects / RVT
Prove: ARSV = ATSV
R
Statements Reasons
1. RV = VT, VS bisects £ RVT 1. glven
2NN =02 2._def of bisects
3. V§=Vs 3.
4. ARSV = ATSV 4.
4. Given: GE bisects DF, GD = GF
Prove: AGDE = AGFE
Statements Reasons
1. GE bisects DF, GD = GF 18 9\11\1"&(\
2. DE=EF 250G\ t{ o I\\ pisecets
3. GE=GE 3._yel\exve
4. AGDE = AGFE . S
5. Given: PQ// RS, PQ = RS RS | Q
Prove: APQS = ARSQ \/\
s 7 R
Statements Reasons
1. PQ=RS, PQ//RS i, QI e\
2. /POS = /RSQ 52, O\ \ Wt €S oxe =
3.50=50 3.__ek\exive
4. APQS = ARSQ a._SAS




6. Given: AE =CE, /1= /2, BE | AD
Prove: AAEB = ACED

Statements Reasons
1. AE=CE, £1= /2 1. an’é,r\
2. BE L AD 2. v,yl'\f@,ﬁ
3. ZAEB and ZCED are right angles 3._def of L
4. LAEB= Z/CED 4.__SubpsShtunoen
5. AAEB = ACED 5. AS A
7. Given: AC and BD bisect each other at M ¢ b
Prove: AAMB = ACMD M
S
B C
Statements Reasons
1. AC and BD bisect each other 1. C{) W& (\
2. AN = CVi, BM = DM 2._det of bisecrs
3. ZAHMB - DINC 3. Vert. /'s=
4. AARS:= A CD 4. SAS

8. Given: DE // AB, CA //EF,
Z1=/2, e
E is the midpoint of BC
Prove: ACDE = AEFB

Statements Reasons
1. CA//EF i Qi ven
2. /3=/5 2. cﬁ&u@ O\t \nt £s are =
3. DE// AB 3. c)z LWV en
4. /5= /4 4__O\X ’ \t _4s gce =
5 /3=/4 5. Subshhrhon
@z L e AL 6. Given
7. E is the midpoint of BC 7 Q} L Ven
8. CE=EB 8._defl of d oA
9: C_i;__&_ﬁ?) 9. def. = segs.
10. ACDE=4 EFEB 10. ARS




~ Give a reason to support each statement.

linear D(X( (Sore SLU—V* If ZA and /B are a linear pair then ZA and £B are supplementary.

Vo< 0 C sz LS ong o 2. If ZA and ZC are vertical angles, then ZA = /C.
\_)k L D / /} ((r \S 3. FmZ1=m«£2,and m£2 =m/3, then mZ1 =m«3.
CpeAc. 4. If AABF = ACED, then /A = /C.
jt“ﬂ“ A J (](fﬂ U/ 5. If ZA and ZD are complementary, then mZA + mZD = 90.
NG C\d(,MhO\/L 6. If Tis in the interior of /SRF, then m/SRT + mZTRF = m/SRF.
kb —- ~P LDISCCAA 7. ¥R bisects ZSRF, then m/SRT = mTRF.

R

8. Given: AH and BR bisect each other at M
Prove: ZA=/H

CPCTC -

Statements Reasons E
1. AH and BR bisect each other at M 1. Q) WL N
e ) \S 0 O \~\Ne 2
2. AM =M, RM = BM 2. ael of bsecy
3. ZRMA= /BMH 3._\Vecrhcol €s Qe =
4. AAMR = AHMB 4. oAS
5. /A=/H s CRCTRE
v
9. Given: RV = VT, VS bisects ZRVT
Prove: RS=TS
S
Statements R Reasons T
1. RV = VT, VS bisects ZRVT 1. QL lveEnN
2= 2 21 /;\18’@' O B IISEecH
3. V5=V8 3._ ceblexi\ve
<2 \ <
4. ARSV = ATSV 4. SRS
5 RS=TS s ERCTE
Bl - E c
10. Given: AE =BC, ZEAB = /CBA D
Prove: /1= /2 =
A
Statements . Reasons
1. AE=BC, ZEAB = /CBA 1. Q\\Vveqn
2. AB=AB 2.__yexXlexjne
3. AABC = ABAE 3. SAS
4. /1=,2 a._ COCTC
s ) T
11. Given: ZSVT = ZUTV, SV=UT -+ e
Prove: /STV = ZUVT = ) =
" [ V]
Statements Reasons
1. ZSVT= /UTV 1. Q\) Wen
ZoNan: O 2. Given
3. VTVt 5. ek lexwy
=
4. ASVT = AUTV 4, oAaS
5. /STV = ZUVT 5 L RERE




12. Given: LP bisects ZMLN,
_PM LLM,PN LLN
Prove: PM = PN

M N
P
Statements Reasons
1. LP bisects ZMLN 1. AN 2N

c\e\{’ of bisectsS

2. /NLP= /MLP 2.
3. PM_LLM, PN LLN 3, (\5 \Wen
W NN \ \
4. ZLMP and ZLNP are right angles 4. _C\ (( (@) ( A
5. /LMP = /LNP 5 SObSHYOhen
| D
6. LP =~ Lt 6. Reflexive
AR
7. ALMP = ALNP 7. AR D>
i ’\\r\ 0 -
8. PMi=PN 8. GRETRE

AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Writing Two Column Proofs

Write a two column proof for each. Use notebook paper.

1. Given: RJ = RK, SJ = SK
Prove: ARSJ = ARSK

i R é S Problems # 1 and 2
2. Given: Z1 and £2 are right angles, JS = KS
Prove: ARSJ = ARSK
K
R
3. Given: AB and CD . ' 4. Given: Z3= /4, RS bisects /TRP
bisect each other Prove: ARST = ARSP
Prove: AAXC = ABXD 3 .
(@ D
X S
B
Y,
5. Given: AB=CD 6. Given: /X = /Z
AB// CD : /3=/4
Prove: AABD = ACDB Prove: AXYA = AZYA
D c X A z
AN
4
3
A B
- - C:
7. Given: AC=BC - -,
X is the midpoint of AB 8. Given: AX L VT X
Prove: AACX = ABCX A= D,
Prove: AVXA = ATXA
A X B
Vv A il



e R R SSYE B
Prove: ARSI = ARSK

R
j, ROZRL |, 84=SK ). given
. RS=RS o . reflexive
3. ARSY = ARSK 2. S8S

2. Qien: <] and<«d are nght angles
JS = KS
Pove: ARS) 2 ARSK

'S (il
). <] +<2 are rqht angles /. given
S S
A “l=<2 J. substdvhon
iR eEARS 3 ceflexave

4. ARSY ZARSK A4, SAS



2 GentAD e D bisect eoch other A Bt '
Il

KD

&

AR~ \
/ B > bisect eac\h SMee ¢ / 8\\§Qﬂ
2. AX = XB |
Ta=na . def’ of brsect
2 <AXL = £ DB 3. wecheol angles
dce £
L AAXC = ABXD 4 SAS
/7[ Oiven: <43 = P < R
. Qiven: <3 =44 KS bisets < TRP /
Pove: ARST = ARST i D
}' 45%44 / ﬂwéru .
RS piseets <TRP
A o) del* of bisects
s Ko i 3. ceflexive

A= NS s e




5) Qfl\ ven: A Jar
e IAN

AARD Z ACDHD
Prove /AL s 2

Pr
\ AB=cD, AB/CD [ jiven
;-;ZL, Loy | 9. oS AN AS ane
2 BD =BD 3 . (eflexave
H. AABD 2 acnsB gkt
N
_ g
' LD) G\;\Qeﬂ" 2K :\_"’) U s ( LZ-
A= 2l T
: b2 e ) 3 z.,i
Prove : ANXNMA Z A2 A 5 4‘;3 ( 5
ey s R R
) R}L\%{QM\/@

N @ e



Proye : A A LX=ABCX

LA

‘CQ. AX XA
s aas e

U e S

3 <
%\ Liven s AX ANT , |
| 2 e A ) :
Deve : AKX P 2 NTYA y sl
A A_\fT)Al“éAL I§5 3\\/%

9 45:@@‘)44:9’0' Q.dﬁf@gl—
e 2. SubShtutiono
o, XAE XA th . Petlecive

(B0 R e O 5 AL




